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AW O 4 TR FEERET A7 7 v MEAY (20) [750E]
Bk Mo 20 mm EEXEXE32 75 M
TAZy Wb OS] FAET AT 7V b 40/60 S
1R M B s 5 1k Bk )f, BEERMB T =R %
BEHE M OERNR: 2 OB B A
TR B4 ﬁﬁa/\?{ﬁ TR B4 ﬁaé}«zﬁ B O EEE| HEME |(E OB | REeR| FHEM
(%) (%) (%) | Ge) | | (%) (kg)
s—20/23.0 | % R13-0 | 30.1 752 | FAB| 0.5 12.0
. |s—13[240 | B A | 1.4 35.0
M s— 5110 | M [ 5Ev BREITAR| (4.8)
| PR B |RI3-0| 300 |4Er| 19.0 | 475 |H7RAE| (L5| —
P[RR 100 | & 3| 24.8| 620 |mamwwm
5 M B =4 J f2ex| 11.4 285  [#i7Aa77vb| 3.3 83.0
Aok 2.0 | M 1 |1E>| 9.5 238
t 100.0 | 0BV 5 [100.0 | 2500.0
S5 wWH |2 W B &8 B E & HIBAHRAR 8 E & F
53 mm
@ | 375 mm | 1 ] ]
% [ 315 mm
B | 26.5 mm 100.0 100.0 100. 0 100
2| 19  m | 988 98. 4 98. 8 95 ~ 100
B | 13.2 mm 77.8 78.7 78.7 70~ 90
2 4.75 mm 45.7 46. 8 46. 1 35~ 55
G 2.36  mm 28.7 e 28.9 20 ~ 35
600 pum 16.9 17.0 18. 1 1~ 23
% 300 um 12.0 118 12.2 5 ~ 186
150 um 8.2 8.1 8.6 4~ 12
75 um 5.1 PR E 5.1 2~ 7
= N &5 B OB B & WA B H e &
BT A7y NVEE (%) | FEF 4.8 BE 4.8 i 5.0 4.5 ~ 5.5
HT A7 70+ & (%) 1. 54 5 —
AR WA & (%) —
BT A7 E (%) 3. 26 3:3 e
k B # B (%) Sl A -
% B (g/cn) 2. 394 2. 395 2.392 -
<+ ZBRBEAEE  (g/en’) 2. 489 2. 489 2. 489
=ECE (%) 3.8 . SERERL 3.9 3 2= 7
EM f1 B (%) 74.3 s 73.8 66 ~ 8
Yl = E (KN) 12.73 10T 12. 61 4. 90 2Lk
V7 v — fE (1/100cm) 28 29 36 20 ~ 40
RE R EE (%)
x O¥ B K (g/o) ] 2. 395 =
B o E EE (B/mm)| — ——
T h W H ' (en?)|  ——— Feves = ]
* Pl R (%) e — e
% K R F (em/sec) —
B e W B R E 160  + 10 T
ioh & + H




